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Interprocedural Analysis

L =6 — P(Var, x Lab’)

{(z,?) | x € Var,}, if 6 =[] A€ = init(S,)
RDentry(g) = Ad. / ’ ,. :
(U{RD ¢z;t(¢/)(0) | (¢, £) € flow, V (¢';£) € flow,}, otherwise

F# (RDentry(0))(6 2 0), if call(6)
RDcyit(€) = Ad. Ji@zc,e(RDentry(gc)a RDentry(€))(9), if return(€) where (€., £n, £y, £) € inter-flow,
fg(RDentry(Z))(é), otherwise
call(?) = (3¢,,0,,¢, € Lab, :: ({,4,,£,,,) € inter-flow, )
return(¢) = (3., 0, L, € Lab, :: (b, 4y, Ly, ) € inter-flow,)
5 (Y () \ {(z,0) | ¢ € Lab’}) U{(x,¢)}, if B'is of the form [z := a]*
fe(Y) = A i
0, otherwise
fL) = A
(Y (pop(8', 1))\ {(z,¢) | ¢ € Lab’,z € val-formals(l.) V x € res-formals(l.)})
U{(z,l.) | = € val-formals(l.)}
U{(y,?) | y € res-formals(l.)}
fRLXY) = A

( ( {(z,0)] (x,£) € X(0),z € val-formals(l,) V x € res-formals(l,)}
U(Y (6 : 1)\ {(z,¢) | ¢ € Lab’, x € val-formals(l,) V x € res-formals(l,.)}))
\{(z,¢') | z € res-actuals(l,)})
U{(z,1,) | z € res-actuals(l,.)}

s, if 5 = (6: 1)

error, otherwise

pop(d', 1c) = {

x € val-formals({) < ([call p(a, Z)]Z € Blocks, V [call p(a, z)]gc € Blocks,)
A (proc p (val x, res y) is™ S end® € D,)

y € res-formals({) < ([call p(a, z)]ﬁr € Blocks, V [call p(a, z)]ﬁ“ € Blocks,)
A (proc p (val x, res y) is™ S end® € D,)

z € res-actuals(f) < ([call p(a, z)]ﬁr € Blocks, V [call p(a, z)}ﬁ“ € Blocks,)
A (proc p (val x, res y) is S end’ € D,)



